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Word problems:

1. Subtract the Sum of 3086 and 1106 from the difference
of 7890 and 2340.

Ans. Sum of 3086 and 1106 Difference of 7890 and 2340
Th H T O Th H T O
3 0 8 6 7 8 9 0
+ 1 1 0 6 - 2 3 4 0
4 1 9 2 5 5 5 0

Sum of 3086 and 1106 = 4192
Difference of 7890 and 2340 = 5550
So 5550-4192=__

Th H T O

5 5 5 0



2. If there are 7025 trees in an orchard. If there are 3123 mango trees,
2987 apple trees and the rest are banana trees, find the number of
banana trees?

Ans:
Total number of trees = 7025
Number of mango trees = 3123
Number of apple trees = 2987

So, the number of banana trees =

Th H T o Th H T (0

1 1 1 6 10

3 1 2 3 + 0O 2 5
+ 2 9 8 7 - 6 1 1 0

6 1 1 0 0 9 1 5

So, number of banana tress = 915.

3....A truck carrying 3568 cola bottles bumped into a large tree.
1679 bottles broke in the accident. How many bottles were left?

Ans:
Total number of bottles in truck = 3568
Number of bottles broke = 1679

Number of bottles left =



Th H T O
2 14 15 18

3 & 6 8
-1 6 7 9
1 8 8 9

Number of bottles left = 1889

4. Reeta scored 768 points in a game. Ravi scored 675 points.
By what margin did Reeta win?

Ans:
5.By how much is 5196 is less than 72737
Ans:

6. A shop-keeper bought 7521 toys. He sold 2980 toys in the
first week and 1000 toys in the second week. How many toys
were left with the shop-keeper after two weeks?

Ans:



